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NEW QUESTION 1
Which statement about configuring certificates for BYOD is true?

A. An Android endpoint uses EST, whereas other operating systems use SCEP for enrollment
B. The SAN field is populated with the end user name.
C. An endpoint certificate is mandatory for the Cisco ISE BYOD
D. The CN field is populated with the endpoint host name

Answer: C

NEW QUESTION 2
An engineer is configuring a virtual Cisco ISE deployment and needs each persona to be on a different node. Which persona should be configured with the largest
amount of storage in this environment?

A. policy Services
B. Primary Administration
C. Monitoring and Troubleshooting
D. Platform Exchange Grid

Answer: C

NEW QUESTION 3
A network administrator notices that after a company-wide shut down, many users cannot connect their laptops to the corporate SSID. What must be done to
permit access in a timely manner?

A. Authenticate the user's system to the secondary Cisco ISE node and move this user to the primary with the renewed certificate.
B. Connect this system as a guest user and then redirect the web auth protocol to log in to the network.
C. Add a certificate issue from the CA server, revoke the expired certificate, and add the new certificate in system.
D. Allow authentication for expired certificates within the EAP-TLS section under the allowed protocols.

Answer: A

NEW QUESTION 4
An engineer is implementing Cisco ISE and needs to configure 802.1X. The port settings are configured for port-based authentication. Which command should be
used to complete this configuration?

A. dot1x pae authenticator
B. dot1x system-auth-control
C. authentication port-control auto
D. aaa authentication dot1x default group radius

Answer: B

Explanation: 
https://www.cisco.com/c/en/us/td/docs/switches/lan/catalyst4500/12-2/31sg/configuration/guide/conf/dot1x.

NEW QUESTION 5
In which two ways can users and endpoints be classified for TrustSec? (Choose Two.)

A. VLAN
B. SXP
C. dynamic
D. QoS
E. SGACL

Answer: AE

NEW QUESTION 6
A network engineer needs to deploy 802.1x using Cisco ISE in a wired network environment where thin clients download their system image upon bootup using
PXE. For which mode must the switch ports be configured?

A. closed
B. restricted
C. monitor
D. low-impact

Answer: D

NEW QUESTION 7
A user reports that the RADIUS accounting packets are not being seen on the Cisco ISE server. Which command is the user missing in the switch’s configuration?

A. radius-server vsa send accounting
B. aaa accounting network default start-stop group radius
C. aaa accounting resource default start-stop group radius
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D. aaa accounting exec default start-stop group radios

Answer: A

NEW QUESTION 8
A Cisco device has a port configured in multi-authentication mode and is accepting connections only from hosts assigned the SGT of SGT_0422048549 The VLAN
trunk link supports a maximum of 8 VLANS What is the reason for these restrictions?

A. The device is performing inline tagging without acting as a SXP speaker
B. The device is performing mime tagging while acting as a SXP speaker
C. The IP subnet addresses are dynamically mapped to an SGT.
D. The IP subnet addresses are statically mapped to an SGT

Answer: C

NEW QUESTION 9
An administrator is configuring posture with Cisco ISE and wants to check that specific services are present on the workstations that are attempting to access the
network. What must be configured to accomplish this goal?

A. Create a registry posture condition using a non-OPSWAT API version.
B. Create an application posture condition using a OPSWAT API version.
C. Create a compound posture condition using a OPSWAT API version.
D. Create a service posture condition using a non-OPSWAT API version.

Answer: D

NEW QUESTION 10
What should be considered when configuring certificates for BYOD?

A. An endpoint certificate is mandatory for the Cisco ISE BYOD
B. An Android endpoint uses EST whereas other operation systems use SCEP for enrollment
C. The CN field is populated with the endpoint host name.
D. The SAN field is populated with the end user name

Answer: A

NEW QUESTION 10
An administrator is configuring RADIUS on a Cisco switch with a key set to Cisc403012128 but is receiving the error “Authentication failed: 22040 Wrong
password or invalid shared secret. “what must be done to address this issue?

A. Add the network device as a NAD inside Cisco ISE using the existing key.
B. Configure the key on the Cisco ISE instead of the Cisco switch.
C. Use a key that is between eight and ten characters.
D. Validate that the key is correct on both the Cisco switch as well as Cisco ISE.

Answer: D

NEW QUESTION 12
A network engineer is configuring a network device that needs to filter traffic based on security group tags using a security policy on a routed into this task?

A. cts authorization list
B. cts role-based enforcement
C. cts cache enable
D. cts role-based policy priority-static

Answer: B

NEW QUESTION 14
Which term refers to an endpoint agent that tries to join an 802 1X-enabled network?

A. EAP server
B. supplicant
C. client
D. authenticator

Answer: B

Explanation: 
https://www.oreilly.com/library/view/cisco-ise-for/9780133103632/ch16.html#:~:text=What%20is%20a%
&text=The%20802.1X%20transactions%20are,Identity%20Services%20Engine%20(ISE).

NEW QUESTION 16
An engineer is testing Cisco ISE policies in a lab environment with no support for a deployment server. In order to push supplicant profiles to the workstations for
testing, firewall ports will need to be opened. From which Cisco ISE persona should this traffic be originating?
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A. monitoring
B. policy service
C. administration
D. authentication

Answer: B

NEW QUESTION 19
During a 802 1X deployment, an engineer must identify failed authentications without causing problems for the connected endpoint. Which command will
successfully achieve this''

A. dot1x system-auth-control
B. dot1x pae authenticator
C. authentication open
D. authentication port-control auto

Answer: C

NEW QUESTION 20
An administrator enables the profiling service for Cisco ISE to use for authorization policies while in closed mode. When the endpoints connect, they receive limited
access so that the profiling probes can gather information and Cisco ISE can assign the correct profiles. They are using the default values within Cisco ISE. but the
devices do not change their access due to the new profile. What is the problem'?

A. In closed mode, profiling does not work unless CDP is enabled.
B. The profiling probes are not able to collect enough information to change the device profile
C. The profiler feed is not downloading new information so the profiler is inactive
D. The default profiler configuration is set to No CoA for the reauthentication setting

Answer: D

NEW QUESTION 23
Which two actions occur when a Cisco ISE server device administrator logs in to a device? (Choose two)

A. The device queries the internal identity store
B. The Cisco ISE server queries the internal identity store
C. The device queries the external identity store
D. The Cisco ISE server queries the external identity store.
E. The device queries the Cisco ISE authorization server

Answer: AD

NEW QUESTION 25
When configuring an authorization policy, an administrator cannot see specific Active Directory groups present in their domain to be used as a policy condition.
However, other groups that are in the same domain are seen What is causing this issue?

A. Cisco ISE only sees the built-in groups, not user created ones
B. The groups are present but need to be manually typed as conditions
C. Cisco ISE's connection to the AD join point is failing
D. The groups are not added to Cisco ISE under the AD join point

Answer: D

Explanation: 
https://www.youtube.com/watch?v=0kuEZEo564s&ab_channel=CiscoISE-IdentityServicesEngine

NEW QUESTION 26
Users in an organization report issues about having to remember multiple usernames and passwords. The network administrator wants the existing Cisco ISE
deployment to utilize an external identity source to alleviate this issue. Which two requirements must be met to implement this change? (Choose two.)

A. Enable IPC access over port 80.
B. Ensure that the NAT address is properly configured
C. Establish access to one Global Catalog server.
D. Provide domain administrator access to Active Directory.
E. Configure a secure LDAP connection.

Answer: CD

NEW QUESTION 27
Refer to the exhibit.
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A network engineers configuring the switch to accept downloadable ACLs from a Cisco ISC server Which two commands should be run to complete the
configuration? (Choose two)

A. aaa authorization auth-proxy default group radius
B. radius server vsa sand authentication
C. radius-server attribute 8 include-in-access-req
D. ip device tracking
E. dot1x system-auth-control

Answer: BC

NEW QUESTION 30
When setting up profiling in an environment using Cisco ISE for network access control, an organization must use non-proprietary protocols for collecting the
information at layer 2. Which two probes will provide this information without forwarding SPAN packets to Cisco ISE? {Choose two.)

A. DHCP SPAN probe
B. SNMP query probe
C. NetFlow probe
D. RADIUS probe
E. DNS probe

Answer: BD

Explanation: 
https://ciscocustomer.lookbookhq.com/iseguidedjourney/ISE-profiling-design

NEW QUESTION 31
An engineer needs to export a file in CSV format, encrypted with the password C1$c0438563935, and contains users currently configured in Cisco ISE. Drag and
drop the steps from the left into the sequence on the right to complete this task.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
Graphical user interface, text, application Description automatically generated

NEW QUESTION 34
Which Cisco ISE solution ensures endpoints have the latest version of antivirus updates installed before being allowed access to the corporate network?

A. Threat Services
B. Profiling Services
C. Provisioning Services
D. Posture Services

Answer: D

NEW QUESTION 39
An administrator is configuring a Cisco ISE posture agent in the client provisioning policy and needs to ensure that the posture policies that interact with clients are
monitored, and end users are required to comply with network usage rules Which two resources must be added in Cisco ISE to accomplish this goal? (Choose
two)

A. AnyConnect
B. Supplicant
C. Cisco ISE NAC
D. PEAP
E. Posture Agent

Answer: AE

Explanation: 
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 https://www.cisco.com/c/en/us/td/docs/security/vpn_client/anyconnect/anyconnect40/administration/guide/b_An
https://www.cisco.com/c/en/us/td/docs/security/ise/2-4/admin_guide/b_ISE_admin_guide_24/m_configure_clie

NEW QUESTION 42
Which two probes must be enabled for the ARP cache to function in the Cisco ISE profile service so that a user can reliably bind the IP address and MAC
addresses of endpoints? (Choose two.)

A. NetFlow
B. SNMP
C. HTTP
D. DHCP
E. RADIUS

Answer: DE

Explanation: 
Cisco ISE implements an ARP cache in the profiling service, so that you can reliably map the IP addresses and the MAC addresses of endpoints. For the ARP
cache to function, you must enable either the DHCP probe or the RADIUS probe. The DHCP and RADIUS probes carry the IP addresses and the MAC addresses
of endpoints in the payload data. The dhcp-requested address attribute in the DHCP probe and the Framed-IP-address attribute in the RADIUS probe carry the IP
addresses of endpoints, along with their MAC addresses, which can be mapped and stored in the ARP cache.
https://www.cisco.com/c/en/us/td/docs/security/ise/2-1/admin_guide/b_ise_admin_guide_21/b_ise_admin_guide

NEW QUESTION 46
An engineer needs to configure a compliance policy on Cisco ISE to ensure that the latest encryption software is running on the C drive of all endpoints. Drag and
drop the configuration steps from the left into the sequence on the right to accomplish this task.

A. Mastered
B. Not Mastered

Answer: A

Explanation: 
Diagram Description automatically generated

NEW QUESTION 49
Refer to the exhibit:

Which command is typed within the CU of a switch to view the troubleshooting output?

A. show authentication sessions mac 000e.84af.59af details
B. show authentication registrations
C. show authentication interface gigabitethemet2/0/36
D. show authentication sessions method
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Answer: A

NEW QUESTION 52
What is a valid guest portal type?

A. Sponsored-Guest
B. My Devices
C. Sponsor
D. Captive-Guest

Answer: A

NEW QUESTION 56
An administrator made changes in Cisco ISE and needs to apply new permissions for endpoints that have already been authenticated by sending a CoA packet to
the network devices. Which IOS command must be configured on the devices to accomplish this goal?

A. aaa server radius dynamic-author
B. authentication command bounce-port
C. authentication command disable-port
D. aaa nas port extended

Answer: A

NEW QUESTION 59
An administrator is configuring a Cisco WLC for web authentication Which two client profiling methods are enabled by default if the Apply Cisco ISE Default
Settings check box has been selected'? (Choose two.)

A. CDP
B. DHCP
C. HTTP
D. SNMP
E. LLDP

Answer: AE

NEW QUESTION 61
A network administrator must use Cisco ISE to check whether endpoints have the correct version of antivirus installed Which action must be taken to allow this
capability?

A. Configure a native supplicant profile to be used for checking the antivirus version
B. Configure Cisco ISE to push the HostScan package to the endpoints to check for the antivirus version.
C. Create a Cisco AnyConnect Network Visibility Module configuration profile to send the antivirus information of the endpoints to Cisco ISE.
D. Create a Cisco AnyConnect configuration within Cisco ISE for the Compliance Module and associated configuration files

Answer: A

Explanation: 
https://www.cisco.com/c/en/us/td/docs/security/ise/1-2/user_guide/ise_client_prov.html About Anyconnect Network Visibility Module
https://www.cisco.com/c/en/us/td/docs/security/vpn_client/anyconnect/anyconnect45/administration/guide/b_An

NEW QUESTION 63
An organization is implementing Cisco ISE posture services and must ensure that a host-based firewall is in place on every Windows and Mac computer that
attempts to access the network They have multiple vendors’ firewall applications for their devices, so the engineers creating the policies are unable to use a
specific application check in order to validate the posture for this What should be done to enable this type of posture check?

A. Use the file registry condition to ensure that the firewal is installed and running appropriately.
B. Use a compound condition to look for the Windows or Mac native firewall applications.
C. Enable the default rewall condition to check for any vendor rewall application.
D. Enable the default application condition to identify the applications installed and validade the rewall app.

Answer: C

Explanation: 
https://www.youtube.com/watch?v=6Kj8P8Hn7dY&t=109s&ab_channel=CiscoISE-IdentityServicesEngine

NEW QUESTION 65
Which two ports do network devices typically use for CoA? (Choose two)

A. 443
B. 19005
C. 8080
D. 3799
E. 1700

Answer: DE
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NEW QUESTION 68
An engineer is configuring a guest password policy and needs to ensure that the password complexity requirements are set to mitigate brute force attacks. Which
two requirement complete this policy? (Choose two)

A. minimum password length
B. active username limit
C. access code control
D. gpassword expiration period
E. username expiration date

Answer: AD

NEW QUESTION 73
An organization is migrating its current guest network to Cisco ISE and has 1000 guest users in the current database There are no resources to enter this
information into the Cisco ISE database manually. What must be done to accomplish this task effciently?

A. Use a CSV file to import the guest accounts
B. Use SOL to link me existing database to Ctsco ISE
C. Use a JSON fie to automate the migration of guest accounts
D. Use an XML file to change the existing format to match that of Cisco ISE

Answer: A

NEW QUESTION 75
An engineer is configuring 802.1X and is testing out their policy sets. After authentication, some endpoints are given an access-reject message but are still allowed
onto the network. What is causing this issue to occur?

A. The switch port is configured with authentication event server dead action authorize vlan.
B. The authorization results for the endpoints include a dACL allowing access.
C. The authorization results for the endpoints include the Trusted security group tag.
D. The switch port is configured with authentication open.

Answer: D

NEW QUESTION 77
What are two benefits of TACACS+ versus RADIUS for device administration? (Choose two )

A. TACACS+ supports 802.1X, and RADIUS supports MAB
B. TACACS+ uses UDP, and RADIUS uses TCP
C. TACACS+ has command authorization, and RADIUS does not.
D. TACACS+ provides the service type, and RADIUS does not
E. TACACS+ encrypts the whole payload, and RADIUS encrypts only the password.

Answer: CE

NEW QUESTION 81
Which profiling probe collects the user-agent string?

A. DHCP
B. AD
C. HTTP
D. NMAP

Answer: C

NEW QUESTION 83
Which two events trigger a CoA for an endpoint when CoA is enabled globally for ReAuth? (Choose two.)

A. endpoint marked as lost in My Devices Portal
B. addition of endpoint to My Devices Portal
C. endpoint profile transition from Apple-Device to Apple-iPhone
D. endpoint profile transition from Unknown to Windows 10-Workstation
E. updating of endpoint dACL.

Answer: CD

NEW QUESTION 88
What are two requirements of generating a single signing in Cisco ISE by using a certificate provisioning portal, without generating a certificate request? (Choose
two )

A. Location the CSV file for the device MAC
B. Select the certificate template
C. Choose the hashing method
D. Enter the common name
E. Enter the IP address of the device

Answer: 
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BD

Explanation: 
https://www.cisco.com/c/en/us/support/docs/security/identity-services-engine/200534-ISE-2-0-Certificate-Provi

NEW QUESTION 93
An engineer must configure Cisco ISE to provide internet access for guests in which guests are required to enter a code to gain network access. Which action
accomplishes the goal?

A. Configure the hotspot portal for guest access and require an access code.
B. Configure the sponsor portal with a single account and use the access code as the password.
C. Configure the self-registered guest portal to allow guests to create a personal access code.
D. Create a BYOD policy that bypasses the authentication of the user and authorizes access codes.

Answer: A

NEW QUESTION 97
A new employee just connected their workstation to a Cisco IP phone. The network administrator wants to ensure that the Cisco IP phone remains online when the
user disconnects their Workstation from the corporate network Which CoA configuration meets this requirement?

A. Port Bounce
B. Reauth
C. NoCoA
D. Disconnect

Answer: C

Explanation: 
https://ciscocustomer.lookbookhq.com/iseguidedjourney/ISE-profiling-design 

NEW QUESTION 102
What must be configured on the Cisco ISE authentication policy for unknown MAC addresses/identities for successful authentication?

A. pass
B. reject
C. drop
D. continue

Answer: D

Explanation: 
https://www.cisco.com/en/US/docs/security/ise/1.0/user_guide/ise10_man_id_stores.html

NEW QUESTION 104
The IT manager wants to provide different levels of access to network devices when users authenticate using TACACS+. The company needs specific commands
to be allowed based on the Active Directory group membership of the different roles within the IT department. The solution must minimize the number of objects
created in Cisco ISE. What must be created to accomplish this task?

A. one shell profile and one command set
B. multiple shell profiles and one command set
C. one shell profile and multiple command sets
D. multiple shell profiles and multiple command sets

Answer: C

NEW QUESTION 107
An administrator wants to configure network device administration and is trying to decide whether to use TACACS* or RADIUS. A reliable protocol must be used
that can check command authorization Which protocol meets these requirements and why?

A. TACACS+ because it runs over TCP
B. RADIUS because it runs over UDP
C. RADIUS because it runs over TCP.
D. TACACS+ because it runs over UDP

Answer: A

NEW QUESTION 112
Which Cisco ISE deployment model provides redundancy by having every node in the deployment configured with the Administration. Policy Service, and
Monitoring personas to protect from a complete node failure?

A. distributed
B. dispersed
C. two-node
D. hybrid

Answer: C
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NEW QUESTION 117
What allows an endpoint to obtain a digital certificate from Cisco ISE during a BYOD flow?

A. Network Access Control
B. My Devices Portal
C. Application Visibility and Control
D. Supplicant Provisioning Wizard

Answer: D

NEW QUESTION 120
A network administrator must configure Cisco SE Personas in the company to share session information via syslog. Which Cisco ISE personas must be added to
syslog receivers to accomplish this goal?

A. pxGrid
B. admin
C. policy services
D. monitor

Answer: D

NEW QUESTION 125
An engineer is unable to use SSH to connect to a switch after adding the required CLI commands to the device to enable TACACS+. The device administration
license has been added to Cisco ISE, and the required policies have been created. Which action is needed to enable access to the switch?

A. The ip ssh source-interface command needs to be set on the switch
B. 802.1X authentication needs to be configured on the switch.
C. The RSA keypair used for SSH must be regenerated after enabling TACACS+.
D. The switch needs to be added as a network device in Cisco ISE and set to use TACACS+.

Answer: D

NEW QUESTION 128
What is a difference between TACACS+ and RADIUS in regards to encryption?

A. TACACS+ encrypts only the password, whereas RADIUS encrypts the username and password.
B. TACACS+ encrypts the username and password, whereas RADIUS encrypts only the password.
C. TACACS+ encrypts the password, whereas RADIUS sends the entire packet in clear text.
D. TACACS+ encrypts the entire packet, whereas RADIUS encrypts only the password.

Answer: D

NEW QUESTION 130
An administrator is configuring TACACS+ on a Cisco switch but cannot authenticate users with Cisco ISE. The configuration contains the correct key of
Cisc039712287. but the switch is not receiving a response from the Cisco ISE instance What must be done to validate the AAA configuration and identify the
problem with the TACACS+ servers?

A. Check for server reachability using the test aaa group tacacs+ admin <key> legacy command.
B. Test the user account on the server using the test aaa group radius server CUCS user admin pass <key> legacy command.
C. Validate that the key value is correct using the test aaa authentication admin <key> legacy command.
D. Conrm the authorization policies are correct using the test aaa authorization admin drop legacy command.

Answer: A

Explanation: 
https://medium.com/training-course-ccna-security-210-260/ccna-security-part-3-implementing-aaa-in-cisco-ios

NEW QUESTION 134
An administrator has added a new Cisco ISE PSN to their distributed deployment. Which two features must the administrator enable to accept authentication
requests and profile the endpoints correctly, and add them to their respective endpoint identity groups? (Choose two )

A. Session Services
B. Endpoint Attribute Filter
C. Posture Services
D. Profiling Services
E. Radius Service

Answer: DE

NEW QUESTION 139
An adminístrator is migrating device administration access to Cisco ISE from the legacy TACACS+ solution that used only privilege 1 and 15 access levels. The
organization requires more granular controls of the privileges and wants to customize access levels 2-5 to correspond with different roles and access needs.
Besides defining a new shell profile in Cisco ISE. what must be done to accomplish this configuration?

A. Enable the privilege levels in Cisco ISE
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B. Enable the privilege levels in the IOS devices.
C. Define the command privileges for levels 2-5 in the IOS devices
D. Define the command privileges for levels 2-5 in Cisco ISE

Answer: B

Explanation: 
https://learningnetwork.cisco.com/s/blogs/a0D3i000002eeWTEAY/cisco-ios-privilege-levels

NEW QUESTION 144
What is a function of client provisioning?

A. Client provisioning ensures that endpoints receive the appropriate posture agents.
B. Client provisioning checks a dictionary attribute with a value.
C. Client provisioning ensures an application process is running on the endpoint.
D. Client provisioning checks the existence, date, and versions of the file on a client.

Answer: A

Explanation: 
https://www.cisco.com/c/en/us/td/docs/security/ise/1-2/user_guide/ise_client_prov.html#:~:text=After%20

NEW QUESTION 148
An administrator is configuring a switch port for use with 802 1X What must be done so that the port will allow voice and multiple data endpoints?

A. Configure the port with the authentication host-mode multi-auth command
B. Connect the data devices to the port, then attach the phone behind them.
C. Use the command authentication host-mode multi-domain on the port
D. Connect a hub to the switch port to allow multiple devices access after authentication

Answer: A

NEW QUESTION 150
Which two Cisco ISE deployment models require two nodes configured with dedicated PAN and MnT personas? (Choose two.)

A. three PSN nodes
B. seven PSN nodes with one PxGrid node
C. five PSN nodes with one PxGrid node
D. two PSN nodes with one PxGrid node
E. six PSN nodes

Answer: CD

NEW QUESTION 155
A Cisco ISE server sends a CoA to a NAD after a user logs in successfully using CWA Which action does the CoA perform?

A. It terminates the client session
B. It applies the downloadable ACL provided in the CoA
C. It applies new permissions provided in the CoA to the client session.
D. It triggers the NAD to reauthenticate the client

Answer: B

Explanation: 
https://www.cisco.com/c/en/us/support/docs/security/identity-services-engine/115732-central-web-auth-00.html
https://www.cisco.com/c/en/us/support/docs/security/identity-services-engine/113362-config-web-auth-ise-00.ht

NEW QUESTION 158
An engineer is configuring a posture policy for Windows 10 endpoints and wants to ensure that users in each AD group have different conditions to meet to be
compliant. What must be done to accomplish this task?

A. identify The users groups needed for different policies and create service conditions to map each one to its posture requirement
B. Configure a simple condition for each AD group and use it in the posture policy for each use case
C. Use the authorization policy within the policy set to group each AD group with their respective posture policy
D. Change the posture requirements to use an AD group lor each use case then use those requirements in the posture policy

Answer: C

NEW QUESTION 160
......
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